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Note: All questions are compulsory. Carrying of mobile phone during examinations will be treated as case of
unfair means. Make suitable assumption if any. Make suitable assumption if any.

Q1)

(a) In WSN, received signal is distorted by channel, corrupted by noise and interferences: 7

is the result

on the received bits? [2.5]

results in path loss in WSN?
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unscheduled MAC protocols on the basis of energy conservatfo%n %,
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(b) Is LEACH protocol suitable for dense network ofwg odes ?eportmg to a central sink, each node can reach

sink directly? Explain setup and steady-state phas 2 ﬁ‘CH ' [2.5]
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(a) If sender infers that a packet has nogt b%en recelved correctly, sender can retransmit it. What is maximum

number of retransmission attempts%} Iofy%“?” “‘iln\;""ded at best semi-reliable protocols results? Justify. [2:5]

(b) How can we do the careful%howe of error control mechanisms? Differentiate between FEC & ARQ.
A o ¥ [2.5]
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(a) Paradigm chkgg&gea orméld centric to data-centric networking in WSN. How non-id-centric addresses

give add1t10§% expressweness enables new interaction patterns than only using standard addresses? [2.5]
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(b) Tlm&&synéﬁromzatlon is important for both WSN applications and protocols. Where Post-facto

synchrom_y;ia ion is used? What are the performance metrics of synchronization algorithm? [2.5]
Qs)

(a) The position of the three anchor points are (2,1), (5,4) and (8,2) and the distance of the anchors with
respect to the mobile is 3.2, 2 and 3 respectively. Find the position of the mobile. [2.5]
(b) How distance can be estimated? Differentiate among RSSI, ToA and TDoA. [2.5]




